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Name: Class: Date: ID: A

Review Packet: Writing the Equation of a Line

Multiple Choice
Identify the choice that best completes the statement or answers the guestion.

What is the slope of the line?
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a. 0 b. undefined
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a. 0 N b. undefined

What are the slope and y-intercept of the graph of the given equation?

|

. y=-8x+3 \ Y -
: The slope is 3 and the y-intercept is —8. ATA = S" ‘[’ ITANAN % 3
b. The slope is —8 and the y-intercept is 3.
¢. The slope is —3 and the y-intercept is -8.
d. The slope is 8 and the y-intercept is —3.
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a. The slope is % and the y-intercept is 19—0
.10 . .7

b. The slope is ry and the y-intercept is T
.7 . . 10

The slope is T and the y-intercept is -5

d. The slope is —192 and the y-intercept is -116
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Write an equation of a line with the given slope and y-intercept.

p 5. Slope =2, Y-intercept=10
a y=-2x+10 ¢ y=10x+2
b. y=2x-10 @y=2x+10

Z \_ 6. Y-intercept= —-:1,.-, Slope = %.,

@y:.l_x_.l. c =_lx+_1_
YT T3 YTFTE
1 11
. y=6x—1 ¢ y=dz+l
by 3 YTET3

Short Answer

What is the equation of the line in Slope Intercept Form?
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Slope: 7’/5 y-intercept;__ "~ /

Equation: X fj
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Name: ID: A

2. What is the equation of the line in Slope Intercept Form?
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Slope: 3 y-intercept: [

Equation: \{ = 37( .'_ \

Graph the equation. Use a Ruler

3. y=x+3
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Name:;

4. Graph the equation, Use 2 Ruler
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Name: ID: A

6. x=-1
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Write the equation in Slope Intercept form and graph the equation,

7. y+3=sS(r+1)
\/ = 9%-S -3 'f‘or_’e Intercept Form: N
Y = 5§
Yiatey = -F : T
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Name: - ID: A

Write an equation in Slope Intercept form for the line through the given point with the given
slope.

8. (2,9 m=1 N=9= [ ()(4—’.2_)
N = XxX42+9
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y-Intercept:

Equation: \{/ = )( {’ “
9. 2,-1);m=0 howv 't t:'v""«‘\l%-&"’(

Wes
y=-

y-Intercept: - I

Equation: \/ - "(

- =—-3—
10. (6,-5),m >

Y45 X+ e

Equation: \/ = /3{?’( + (/
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ID: A

What equation in slope intercept form represents the line that passes through the two

points?

11, (5,4), 6,-3)
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Y—Y = -Tx + 35—
Yy —= -T2 + 3%
12. (5,5)(6,2) M = 2
o=
LAA RN
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N-$= - 3(x-<) |
N—S =~3x +/\7
\/ = M 4+ 20
13. ,70,6,1 VV\":' ~—,..i
y~l= -6 (x-3) =3
= 6,
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Slope:

y-Intercept: 3 ?

Equation: }lz = —-7x 3 9

Slope:__ — 3

y-Intercept: 20

Equation: .\‘f! = ~Bx &

Slope: - G
y-Intercept: l Ci
Equation:_ \/ < 'é)( LHIF
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(1, 10)

Name:

ID: A

14. Mr. Rasczyk is tring to get abs of steel. At the end of 1 week he could do 10 sit-ups. After 4 weeks he

could do 31 sit-ups. ) O) (Lf! 3’/

What is Mr. Raz’s rate of change (slope)?
m= 3170 o= 21
4 -] 3 |
WA = “Tsitup f/wmi& )
What does the slope mean for Mr. Raz?

He can o Tmere T F Yps
fm\f”fb‘*J C‘»C{C(r}\ aMC\/C 1 Q.Q_

What is the y -intercept?
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How many sit ups can Mr. Raz do the very ﬁrst tlme he started‘? How do you know?

16 =7 + o
CD)YJ V:B m/‘lO-?

=9
3 s, |u‘\‘s'

Write the equation of a line representing the amount of sit ups Mr. Raz can do.

N=Tx + 3

When will Mr. Raz be able to do 100 Sit-ups?

o= 1% 13 137
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